LITE

OWNER'S
MANUAL




INFORMATION FOR USERS ENGLISH (EU,US)

Before using or assembling the product read the document very carefully. The product can be used This product is certified by: |
Please keep the manual as you may need the included information in the future. by wheelchair users. \/\\

The product is under international patent, trademark and copyright protection. \ )
If you cannot find the instructions in your language please visit www.tegball.com o N —
SPECIFICATIONS OF THE PRODUCT J 2001/95/EC General Product Safety Directive -7

Unfolded dimensions: Folded dimensions: EN 14468-1:2015 (where relevant)  LISTED | E °
3000x1700x900 [mm)] 760x1700x1800 [mm)] e F | T O\
Total weight: max 110 kg

SAFETY AND WARNINGS

Please, follow closely these instructions when assembling the table; warranty claims are not valid if the assembly is faulty. Teq Lite table is a specially designed piece of sports equipment and it is not suitable for any
other purposes.

«

It is forbidden to use the table in  Please store the table sheltered It is forbidden to keep the table |t is forbidden to jump, stand, ~ Folding up and down the heavy tabletop Do not touch the moving

extreme weather conditions. from the wind as otherwise on sloping ground either folded sit or lean on the table. must be done by two people. Always  elements during moving or
accidents can happen. or unfolded. keep your back straight when lifting. folding up/down the table.
D x . o . i Do not leave children unsupervised . . \ - .
0 not use in case of missing It is forbidden to move the around the table (including setting-up Itis forbidden to store the table Warranty void if seal It is forbidden to jump on or
or defective parts. table in unfolded position. and storing periods as well). without locking the wheel. broken or removed. kick the table.

HANDLING & MAINTENANCE

The Teq Lite table must be set up properly. This is not only for better gameplay experience but also for your safety. Please follow these instructions:

2x

OPEN

CLOSE
g

Clean the surface with warm water and use a mop (DO NOT use any abrasive sponges). Regular maintenance is essential to keep the Teq Lite table safe and reliable. At least twice a month check all screws, nuts to ensure
that they function properly. During the periods when your Teq Lite is out of use, it is recommended to fold up the tabletops, cover the product and store it indoors. This way you will have a better chance to avoid
weather-caused damages such as fading of the tabletop or corrosion of the steel structure.

Replacing any component with an improper part makes the table unsafe. Always use original Teq Lite components for replacements! In case of any question please contact us on support@tegball.com

TEQBALL PRODUCT WARRANTY (EU,US)

Teqball is proud to provide the following warranty (the “Warranty”) on its high quality products to its consumer Customers, beyond any other legal remedies or warranties that they may have under applicable law
Risks/costs covered by the Warranty: latent product defects relating to materials and/or workmanship; shipping, packaging, handling and customs fees relating to product repair or replacement; repair costs;
Risks/costs excluded from the Warranty: product surface damage (except paint damage or rust caused by manufacturing defects, which are covered) ; damage caused by misuse, neglect, accident; damage caused
by not following any instruction in the Owner’s Manual; normal wear and tear; damage suffered in transport; damage suffered during or after a repair or installation by unlicensed third parties; potential, indirect,
incidental, special, punitive or consequential damage, even if informed of the possibility of such beforehand;

Warranty period: 2 (two) calendar years from date of delivery to the Customer; Warranty claim window: unless otherwise specified in applicable law, 10 (ten) calendar days from the date damage was noticed
or should have been noticed; Proof of claimed damage or costs: photo or video of damage accompanied by photo of serial number; costs substantiated by written documentation; Format of warranty claim:
email to support@teqgball.com or fax to +353 (85) 748 5613, including (a) proof of claimed damage or costs, (b) proof of purchase including date of purchase, and (c) proof of resale if resold to another consumer;
Remedy of warranty claim: within 20 business days of receipt of a valid warranty claim, Tegball shall provide, at the Customer’s option and at Tegball’s expense, either (1) a full refund of the purchase price to
Customer’s bank account located in the country of purchase, (2) replacement with a table in the same range shipped to Customer’s address located in the country of purchase or (3) repair or replacement of a
damaged part (at Tegball’s discretion). In each case, Teqball may reclaim the damaged table or part.

Claims after warranty period: beyond the warranty period, Tegball provides quality repair services through its network of certified professionals, at the Customer’s cost.

No distributor or agent may vary the terms of this Warranty. If the terms of this Warranty contradict the terms of a sales contract entered into by Tegball, the conditions specified in such contract shall prevail.

PRODUCT LIABILITY

The Tegball product you have purchased (the “Product”) is manufactured to the highest industry and safety standards (including EN 14468-1:2015; UL 962) and Tegball constantly performs quality and safety testing to ensure that these

standards are maintained or exceeded. Nevertheless, no product, especially one with heavy or moving parts, is completely risk free.

SERIOUS INJURY OR DEATH MAY RESULT FROM NOT FOLLOWING THE INSTRUCTIONS IN THE OWNER’S MANUAL, IN WHICH CASE TEQBALL AND ITS ASSOCIATED ENTITIES AND PERSONNEL DECLINE ALL LIABILITY]

IN ALL CIRCUMSTANCES, AND TO THE FULLEST EXTENT ALLOWED BY APPLICABLE LAW, TEQBALL'S LIABILITY RELATING TO DIRECT DAMAGE SUFFERED IN RELATION TO THE PRODUCT SHALL BE LIMITED TO (1)
100,000 (ONE HUNDRED THOUSAND USD) OR (2) ACTUAL SUBSTANTIATED DAMAGES, WHICHEVER IS LOWER.

NO LIMITATION OF LIABILITY SHALL APPLY TO INJURY OR DEATH CAUSED BY TEQBALL'S GROSS NEGLIGENCE OR TO ANY OTHER DAMAGE THAT MAY NOT BE LIMITED BY APPLICABLE LAW.

IN ALL CIRCUMSTANCES, AND TO THE GREATEST EXTENT ALLOWED BY APPLICABLE LAW, TEQBALL DECLINES ALL POTENTIAL, INDIRECT, SPECIAL, INCIDENTAL, PUNITIVE OR CONSEQUENTIAL DAMAGE SUFFERED

IN RELATION TO THE PRODUCT, EVEN IF INFORMED OF THE POSSIBILITY OF SUCH BEFOREHAND.

Any liability claim must be substantiated by documentary evidence recorded within 5 calendar days of sustaining the damage and submitted to legal@tegball.com (or by fax to +353 (85) 748 5613) within 10 business days of the same date,

unless longer claim windows are provided by applicable law.

PICTOGRAM DESCRIPTION
9

™ “-.ll

Keep horizontal Tighten completely (5 Nm) Stop halfway (2 Nm) Repeat on both sides Identify parts by length

Use of electric or pneumatic
screwdrivers is prohibited

2201-090-001DF




NMAHPO®OPIEZ I'lA TOYZ XPHZTEZ EAAHNIKA(GR, CY)

PV XPNOLUOTIOWCETE 1) CLVAPHOANOYNCETE AUTO TO TIPOLOY, SlaBdaTte autd To Keipevo | To Tpolov pmnopet va To mpoldv elval TLOTOTONHEVO CUHPWVA LE TN: |

TIPOOEKTIKA. KpaTrioTe TO pUAAGBLO QUTO, KABWG 0T PENNOV LTopEL va XpELaoTelte | xpnatpomotn8el ano dropa ~ / \\
TIC MAnpogopleq Tou Teptéxel. To Tpoiov umdkeltal oe Tpoctacia Sledvols | ge auagisLo. \ )
£UpEOLTEXVIAC, AOYOTUTIOU KAl TIVELHATIKAG LOLoKTNolag. Av dev propeite va Bpeite TIq : N —

0dnyleg otV dIKr 0ag YAWOOQ, ETLOKEPBELTE ToV LoTOTOTo www.tegball.com 2001/95/EC General Product Safety Directive -7

AEAOMENA TOY MPOIONTOX: < EN 14468-1:2015 (omou Loxvet) LISTED

°
ALAOTACELG, WG AVOLYHEVD:  ALAOTACELS, SIMAWEVO: JUVOALKO BApOg: s ’: I T EQ
3000x1700x900 [mm) 760x1700x1800 [mm] max. 110 kg

AZOAAEIA KAI TIPO®YAAZEIZ

Mapakaholpie, AKOAOUBNOTE TPOCEKTIKA TLG akOAOUBEG 0ONYIEG AUTEG KABWE CUVAPHOAOYELTE TO TPATELL. ALTAPATA OXETIKA PE TNV eyyLunan dev LoxLouy, av n cuvapuoAdynon eivat Aaveaopévn. To Tparell
Teq Lite eivat eva e181kd oxedLaopevo Tpolov eEOTALOPOL yLa aBANTIOHO Kal eivat akaTtAAANAO yLa GAAES XPAOELG.

-

ATayopeVETAL VA XPNOLHOTIOLELTE TO  ATIOBNKEVLOTE TO TPATETL 08 ATayopeleTal va TOTOBETAoETe  ATIAYOPEVETAL VA TINBATE, VA KpaThoTe TNV pdxn 0dQ ot (ota 8éon  MPpoogETe Ta onpeia kat

Tpamedl oe AKPALEG KALPIKES 8éon TpooTatevpévn ano Tov  TO TPATECL e eTukAwn Beon, OFéKQUTEv va KaBeaTe, v"rl vad - otav onkwveTe PApog. Ta egaptrpata oe kivnon

GUVBAKEG. Gvepo, BLaPoPETIKG Iropel va  ELTE BUTAWHEVO, ElTE QVOLYHEVO.  YEPVETE TIAVW OTO TPATECL KaBWG PeTaKivelte f
TIPOKVYOULV aTuXApaTa.

- SUMAWVETE TO TPATELL.

= ¥

X

N\

Mnv emTpeneTe ce madid var Taidouy Xwpiq Agmvmcu'loer]KschTSTo H eyyonon dev loxveL av To

Mgnpvﬁgufgp]%ffﬁgﬁzsgﬁ Anayopevetalva PETQKWS’“? ETUTTONON KOVIAOTO TPAMEYL (AKOUAKALKATATIY TP xwpiG VakAEISaopaNCETE  TESIAO KASIOaopANanG elvat AHQVOPEQSqu va “”6;\118 ”,de
EAATTWHATIKWY EEAPTNHATWY. TO TPAMETL OTAV ElVaL AVOLYHEVO.  (roBrKeuan KA TV ouvapLOoNOYTan). TOUG TPOXOUG, OTOOPEVO ) AelreL. OTO TPAMELL N VA TO KAWTOATE.

XEIPIZMOZ KAl ZYNTHPHZH

To tpanédL Teq Lite mpermel va ouvappohoynBet cwotd. AuTo eival anapaitnTo, Oxt HOvVo yla TNy peylotn aBAnTIkn epmelpia, alAd kat yia tnv Sikn oac aopdAela. MapakahoVpEe, akoAoLBNOTE TIG TIAPAKATW

obnytec:
g
N Y 6
L
<
X
|-
o
=
< >>CLICK <<
KaBapidete tnv emupavela pe {eotd vepo kat avi (MHN xpnotuomnoleite opovyydpla TpiBrg). H TaxTikA ouvTrpenon elval anapaitntn yia va eivat to tpanedl Teq Lite acpaAeg Kat aglomioto. TouAaxiotov 600

(QOPEG TO pPrva eNEYETE OAEG TLG BiEG Kal Ta eEapTAPATA MAKTWONG yia va BeBaiwbeite 0Tt Aettoupyobv owaTd. a tnv Tiepiodo mou Hev xpnotuonoleite To Teq Lite 0ag, ouvioTdTal va SIMAWGETE TIG ETUPAVELEG,
Va TO KAADYETE KAl Va TO anoBnKeUOETE OE E0WTEPIKO XWPO. KATd auTév Tov TPOMO, elval a0PaAECTEPO OTL BA AMOPVYETE {NULEG TIOL TEPOKAAOLVTAL amd TIG KALPIKEG OUVBNKES, OMWG TO EEBWpLAcHA TNG|
ETUQPAVELAG 1) N 0§IdWON TWV HETAAAIKWY HEPWY.

H avtikataotaon omolovdnToTe 6APTAKATOG and akatdAAnAa egaptripata Kablotd to HFO[OV QAvao@aAES. Xpnolpotoleite mavtoTe avBevtikd efaptrpata Teq Lite ya Tnv avtikatdotaon dAAwv! Maf
OTIOLAdNTOTE EPWTNHA, ETUKOWVWVNCTE WAl pag otnv nAektpovikn dtevbuvon: support@tegball.com

EFTYHXIH NPOIONTOZ TEQBALL (GR, CY)

HTegball Bploke Tatatny euxdpoTn BE0NVanPoaPEPEL TNV akdAoLBN eyyuNan (<EyyONan») yla taupnArG MoLOTNTAG TPGIOVTATNG TTOUG LOLWTEG TEEAATES TG, EPAATIO TIG OTIOLETONTIOTE ANOZNHLLIOELG KALEYYUNTELG TIOUTIDOOPEPOULY OLLOXUOVTEG
VOpOL KivOuVOL/KOGTN TIOU KAAUTTTOVTALATIO TV EyyUNoT;: N eppavi ENAT TWHATAUALKV F KATAOKELNG, LETAPOPIKAEE0Da, 6050 0UOKELAOIAC, BLABIKATTIKAKALEK TEAWVIOTIKAKOOTN OXETUKA JE TNV ETIOKELM 1 TNV AV TIKATAOTAOT) TOUTPOIOVTOG,
KOOTOGETUOKEUNG. KIVOLVO/KOTTN TIoL SV KAADTTTOV TaLand Tny EyyOnon: empavelakr| Znutd Tou rpoldvTog (EKTOG anoeAaT Twpata Bagrig  0§eiduwong Adyw KATaoKELAOTIKOV AGBOUG, TAOTOLA KAAUTTTOVTAL), NHIATIOV TIPOEKVPE ATO N OWOTH
XPrion, MapdAELpn, aTuXNHa, ZNHLATIOV TIPOEKUPE Ao TNV N OUPHIGPPWON e TIS 0dnyieg Tou Eyxetptdiou Xpratn, ouvrong pBopaAdyw xpriong, ZNHIAKATA TV HETApOPd, {NHIAKATA TNV ETILOKEUT ) OUVAPHOAOYNON and TpLTa, In E0U0I000TNHEVA
TIpOOWTT, SuvNTIKr, EPPEDN, Tuxala, EBIKN ZNHLG, TIPOOTILO 1) CUVAKOAOLBN {NILA, AKOHIALKAL Qv UTTPXE TIRONYOUHEVN yVWIoN TG TIBavoTNTag Tou va TipokUeL. Mepiodog toxvog mg eyydneng: 2 (500) NHEPOAOYLAKA TN and TNV NUepopnvia
Tapadoong otov MeAdtn. M X BOAIIG EYYLITIKOL auTr Qv 0OXVOVTAG VOHOG Sev TORAETIELBLaYOPETIKG, 10 (5EKA) NHEPONOYIAKES NUEPES ATO TNV NHEPCTIOL TIAPATNERABNKE N {NHLAT Ba€mperte vamapatnpnBel. AmodekTika
OTOWXELN TG ZNHLAG F) TOV KOGTOUG: (PLITOYPAPIES 1 BIVTED TNG {NHILAG, GUVOSEUOHEVA ATTO (PLITOYPAPLA TOL APLBHIOL GELPAG, £YYPAPA YA TA KOTTN TOU TIDOEKUYAY. TUTIOG EYYUITTKOU QLTAPATOG: |E NAEKTPOVIKO TAXUOPOLED OTN HLEVBUVON
support@teqball com e pag oo +353 (85) 748 5613, eruouvarttovag;: (a) arodei€elg g ZnNULAg 1 Tou KOaToug, (B) anodetén ayopdg Ornou va epgpaviZetat n npepopnvia ayopds, (y) anddeten HETanwAnong, av HETABIBATTNKE OE GAAOV XPraTN,
Anognpi YO EYYUITTIKO aimpa: evTOG 20 £pYACLIWY NHEPWV ATTO TNV AP EVOG EYKUPOL EyYUNTIKOL atTratog, N Tegball Bampoopepel, kat eruhoyr| Tou MeAdTn kat e £606a g Teaball, fte (1) Tirpn ard5o0m Tou TYAHATOG TNG ayopag oe
AOYapLaCHO TPATTEZAS TOL MEAATN OTNV XWPA AYOPAS, ELTE (2) Qv TIKATAOTAON e GANO TPATEY MAPOHOLWY XAPAK TNPLOTLKWY TIoL Bamapadobel atnv SlevBuvon Tou MEAATN OV XWPaayopas, ette (3) EToKeun 1 avTKaTtaoTaon (Kat erAoyrn Tng
Tegball) TOL KATEOTPAEVOU PEPOUG TOU TIPOIGVTOG. H Tegball pnopet va gnnoet va Tng MapadoBet To KATETTRAPHEVO TRATETL 1} PEPOG ALTOL. Artparta HETA TV AN TG TEPLOdoL EYYUNONG: ETA TV Tiepiodo eyyunang, N Tegball Tpoopepet
TIOIOTIKEG UTINPEOLEG ETUOKEVNG HEOW EVOG BIKTVOU TUOTOTIOLHEVWIV ETAYYENLIATLLV, PE £6060 TOU MEAGTN. KavEvag PETATWANTIG 1 EHMOPIKOG Qv TITPOOWTIOG eV LMOPEL VA TPOTOMOWTEL TOUG GPOUG TNG EyyOnong auTrc. AvoLopoLauTiG TG
EyyOnong avTiTiBevTat otoug 6poug KAMoLoL UPBOACioU TIWANGNG Tou ouvaye N Tegball, TOTE LTEPLEXUOLY OLOPOL TOU CUPBOACIOU.

EYOYNH MNMPOIONTOX

To npoiov Tegball Ttou ayopdoate (To «Mpoidv») EXEL KATAOKELAOTEL CUHPWVA HE TA UPNAGTEPA TPOTUTIA KATAOKELNG KAl MOLOTNTAS (OUHMEPLAaBavopévou Twy EN 14468-1:2015 kat UL 962) kat n Tegball ipaypatorotet
OUVEXWG EAEYXOUG TIOLOTNTAG KAL AGPAAELAG YLa VA BERAWOEL OTLAUTA TATIPOTUTIA TNPOLVTAL, I KALUTIEPKAAVTITOVTAL. QOTO0O, KAVEVATIPOLOV, TTOGO HAAAOV EKELVATIOL TIEPLEXOLY BAPLAT KIVOUHEVA PEPN, OEV Elval TEAEIWG
akivbuvo. MIMOPEI NA MPOKAHOEI YOBAPOX TPAYMATIZMOX 'H OANATOX AMO THN MH THPHZH TON OAHTIQN XTO EFXEIPIAIO TOY IAIOKTHTH, ONOTE H TEQBALL KAI Ol XYNAEAEMENEX ONTOTHTEX KAI TO
NPO>0MIKO THE APNOYNTAI KAOE EYOYNH!YOBAPH YOMATIKH BAABH'H KAl OANATO3 MIMOPEI NA MPOKAHOEI ANO TH MH SYMMOP®QYH ME TIX YMOAEIZEIF TOY MAPONTOZX EXTEIPIAIOY XPH3TH, SE AYTHN
THNNEPINTQXH H TEQBALL KAITA XYNAEAEMENENA ME AYTHN NPOZQMA KAGQX KAI Ol EPFTAZOMENOI AEN ANAAAMBANOYN KAMIA EYOYNH! YE KAGE MEPIATOXH, KAI XTO METIXTO BAOMO MOY ENMITPENEIH
IZXYOY>A NOMOQEZIA, H EYOYNH THX TEQBALL XETIKA ME AMEXEY ZHMIES M0Y MPOKAHOHKAN YE $XEXH ME TO MPOION MEPIOPIZETAI (1) $TA $100.000 (EKATO XIAIAAES USD), H (2) 3TO MPArMATIKO YWOX
TON ZHMION MOY MPOKAHOHKAN, O10I0 AMO TA AYO EINAI XAMHAOTEPO. AEN IXXYEI KANENAZ MEPIOPIXMO3 EYOYNHZ AOTrQ YOMATIKHY BAABHY H OANATOY IMOY O®EIAETAI SE BAPIA AMEAEIA THE TEQBALL
HAOIrQ AAAHX ZHMIAZ MOY AEN MEPIOPIZETAI AMO THN IZXYOYXA NOMOGEZIA

KdaBe attnpa oxeTikd pe TV euBivn TIPoidVTOG TIPETIEL VA UMOOTNPLZeTAL Ard ATIOSEIKTIKA OTOLXELA TIOU EARPBNTAV EVTOG 5 NUEPOAOYLAKWY NHEPWY ATIO TNV NHEPOUNVLA TIOU TIPOEKUYE N {NHILA KAL va UTIORAAAOVTAL OTN
SlevBuvon legal@tegball.com (1 pe pag 0To +353 (85) 748 5613) evdg 10 epydoLpwy NUePWY amno TNy (Bla npepopnvia, EKTOS Kat av 0 LoXHOVTAG VOHOG TIPOBAETIEL LEYAAUTEPO TIEPLBWPLO.

m Y2 =

A‘-.l A‘-.ll

Kpatrote oe optZovTia 6eon Bidwote teheiwg (5 Nm) BlOWOTE PEXPL TO PECO (2 Nm)  EmavaAdBeTe kal oTig SU0 MAEVPES Mgmr‘]gﬁ;ﬁfﬁgxs vata Hthﬁg&g‘é?sngﬂi{g:s:gS;g;?]o

12 | 55
2201-090-0010F




_ 12
1x& 6L4kg
3 120

1590
2/2

1x B 66kg m”"

1590

5Nm 2 Nm

= i [ [ &

27 | 55
2201-090-0010F







F1 x16 F2 x14 F3 x4 F4 x4 F5 x4 F6 x12 F7 x4 F8 x18 F9 x2 F10 x8 F11 x2 F12 x4
— S £ & € -— = S € LA € € € € IS €
— S £ £ € = 35 S S € S S S S S
f— © - =) o 4T) o o 8 N 8 oS N o oS
=__— > Q 75: 2 X 9 X Q2 = = 2 = i
=] p— (@) o EHO © @) © @) © < [<5) < >
— = - «ij": > A= > = S > © S 9 9
— E = = = =
— E =
o e 3 -
- € =
— = = s
— =3
— ‘V/l
— =)
e— &8
8= = S
— Z -
— & S
& f— : =
— = ==
P C—
p— -
— =
S — ;—j S
o p— 3
= =
—_ - (=
f— = —5
—— = =
S — - S =
— = <=4
— E E? &
.= o ==
= C > =—
— - C (.
—_— 5 &4 =
. j— - (J =é
=) — -
S [— ;6
— (= /é
g ——
ER
=
F13x54  F14 x4 F15 x4 F16 x78 F17 x14 F18 x4 F19 x4
@ @ #2,5 mm %1,3 mm
M6 L_.D” mm D16 mm v ~——
M8 D24 mm D24 mm
M12
E1 x16 E2 x14 E3 X8 E4 x16
D18 mm /] 2\ 0 \ ¢ % /; %
|<—> a ) (1 D]
=1 = — e — g —
10x20mm 20x30mm 20x20mm 30x30mm
€
€
&
D15 mm
] : :
D10 mm g D14 mm g E D7,3 mm D6,3 mm
IS = | o D9 mm ~
c )
I
x8 x2 x16 x8 x8 x24 x8 x4 x4 x4
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10

2201-090-001DF




' Sl - |
.E 3 :E =
E2 x14 E4 x16
E1 || x16 E3 x8

L=960 mm
E1 ][] =» [©

//@ o | e [[] E7
@

® ®
i

L=546 mm

E4 []ll] = [O
L=1230 mm /@

E2|:|I[]—>|o o @/ 0 o|<—|]]]:|E2
L=706 mm /@

E2 []l] = [© @/ O] <= [I]] E2
L=1370 mm /0

E2|:[[[|—>|o o </ o o|<—|]]:|:|E2
L=1235mm /@

E1|:|I[|—>|o / o|<—|]]]:|E1
L=947 mm /@

E3 [[] = [o @/ o | <= [[[[] E3

3055
2201-090-0010F




M=

31165
2201-090-0010F




1S

N
><

i

F1 x12 M6x16
F2 x8 M6x30

®,
960mm

=




|
—

—
(—/
L—

—d

2

1

D




“-

z Cc7 x2 Cc8 x A2 x2 F16 x4 D12 F13 x4 M6 F3 x4 M6x35
( @ F17 x2D16 F14 x2 M8 F11 x2 M8x100
S

[=1230mm

34|55
2201-090-0010F




Z C6 ¥4 £ C22 x4 A9 x4 F16 x12 F13 x12 F2 x4 M6x30
F4 x4 M6x40
,, @ F6 x4 M6x60 %
[=546mm D12 M6

35 | 55
2201-090-0010F




2 C7 ¥ % A3 8 F16 F13 %4

@w%

[=1230mm D12 M6 M6x60

36 | 65
2201-090-0010F




\
A
R

mr
T |l
jo - I

37 | 55
2201-090-0010F




3865
2201-090-0010F




c19 C20

2 C19 ¥

e

D12 M6 M6x30

39| 55
2201-090-0010F




2 C15 x4 F16 »2 F13 x2 F8 *2
S %
D12 M6

40 | 55
2201-090-0010F




A‘-.

4155
2201-090-0010F




Y A3 A48 c13 %2 C14 %2 F16 4 F13 x4 F6 *
8 & © & {

L=706mm D12 M6 M6x60

42| 55
2201-090-0010F




X
43 | 55
2201-090-0010F




I

150 [mm

140

130

120

110

100

o
o
o
(e
o
=
jam)
[da)
o
Lo
o
=
o
oD
ja)
[aN)
o




e &

—

.,.,
a
W










Z C11 22 F16 x2 D12 F13 x2 M6 F9 x2 M6x110 [T ]

F17 x2 D16 F14 x2 M8 F12 x2 M8x110 5 ;

S &

48| 55
2201-090-0010F




M12
49 | 55

F15 x4

~ 2,5 . V 7,3 o @
D24

F19 x4

D24

x4

z F18




50 60

20 30 )

10

0

50 | 55




>j€

_a il

\\ /‘\ 7 \:\/’\1\“\/\/\/ b“

2 F17 x4 F14 4 F10 *
S %
M8

M8x55

51| 55
2201-090-0010F




52 | 65
2201-090-0010F

L
h

“-.

. ,Q':y
/)

f 1505
A0

|
ligl
o

)

S

N NN
l; DDA
X0
0%

Y/

ox)

%

\\ \ /'\‘lh\bn\g(

—.—,;7— A
"i\"i(

N
YA\

ZI4
RN \
il

\[ V)
VANXOX
0
O
L

WA
\‘ " A\ ¥

%

NN
//%Yl‘h'g

%N
(KX “'WQ




© IaNRY

Ui

M6

2201-090-001DF

M6x90

53 | 55



............

DRVAURIOIN
I IAYNNN) VA,
N
A ALAR
1 i\‘/‘\\‘,f\\vl\"l\é'/‘w' U “/i
RRORHOAK)
nl\/A\‘ NV NN

Y

54 | 55
2201-090-0010F







LITE
OWNER'S
MANUAL




